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1. Which one is a valid name for a variable?
(a) char

(b) Float

(c) 1*_Name
(d) all

2. Which one cannot be a variable name?
(a) Character

(b) float

(c) _Name
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(d) _1stName
3. Which one is reserved word that can not be used as variable name
(a) else

(b) classes

(c) world

(d) fetching 0
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4. Which one is a declared variable?
(a) char;
(b) Float=2;

(c) int salary = 1000 ;

(d) float result ;
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5. Which one is an initialized variable?
(a) char gender ;
(b) float percentage = 2.1;

(c) 100salary = 1000 ;
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(d) None
6. Which type of value is changeable in a program?
(a) Variable
(b) Statement
(c) Constant

(d) Function

Short Questions.

1. What is Variable?

2. Define IDE. Write some names of IDEs) Xi
3. What is Variable Declaration? ““k“(w L
4. Who is a programmer

5. Define Computer Programming.

6. What are the rules to make variable.

7. What are the reserved words?

8. Define char type constant.

Long Question

1. What is Constant? Explain its types.
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CHAPTER NO.9: CHEMICAL EQUILIBRIUM

Name Class 10" Marks 30
Roll no. Subject Chemistry Time mins
SECTION-I
Question #1: Choose the best option. 10 x 1 = 10 -0 S A S Gl g a1 ) gpad J g
1. Kcis equal to: ' f = Ke | 1.
A ke/kf | B | ‘Kf/kr C| Kr/kf | D | Both b and ¢
2. | The unit of molar concentration: =SS S G el e [ 2,
A mol. dm” | B ] mol. dm™ C | mol. dm | D | mol. dm”
3. Value of K, for this reaction is? f o A8 sy SKe A SO 6y S S |3,
N2 Oae) 2NOy)
—_—
A 0.211 [ B ] 0.0121 C | 0.0211 | D | 2.110
4. For the below Reaction., the expression for the 35 (MJJ sl OS CLLS S s =8 s |4
Equilibrium constant equilibrium is: 3A(g)+B Dl (S G sl
3Cq .
[3¢] > [2A1[B] [cr’
A [2A][B] B [cr C 13C] D [A1’[B]
5. When the number of moles of both sides are Dl olad (S lse S GlhlGsisn e dasay S |5,
equal in a reaction, then the unit of Kc will be: (S S (S Ke i S Sl
A No unit | B | mol“dm° C | mol'dm’ | D | mol“dm
6. The value of Kc depends on: = ranie sl SKe | 6.
A Pressure B Temperature C Volume D Atmosphere
5k Sola a0 s Jsale
7. Law of mass action was proposed by: e LS Gl S e gl Y |
A Newton B Boyle C Gulberg'and waage D Lavoisier and waage
(A s Jigin 85 sl L LEK s sl oY
8. Which of the following statement is not\correct Ol O s pe dd aa de (e el S e 5501 | 8,
about active mass? NN = o S 2
A Rate of reaction | B Active mass is taken in C Active mass is D Active mass means
is directly molar concentration represented by square total mass of
proportional to Ce Dlie e e 550 brackets substances
active mass =l e S ol S aie adle ol 1€ e 5350
o g S S OSSey AB 2y S Ghsha ole K8
=S ke Jlad =Uals
o el
9. Equilibrium state is achievable in: N ANEOM f = Upas JilE s () 5 |
A Closed system | B Open system A G\ /Both aand b D None of these
o r"‘“‘“’ Gl ¢ | & osle Vusis o S e
10 | The colour of hydrogen iodide (H1)is! =SS, S (HD 35540 05380 | 10.
A Black B ‘ Purple C Colourless D Blue
ol s S i




SECTION-II
SUBJECTIVE-TYPE

Question#2: Write the short answers. 2 x 8 = 16 -0 Rl paihar Y el Jlgu

1. What is meant by term Chemical equilibrium e WS s AOaial (S lla (S oo Sl JSes | 1,
state”?

2.. Give the Characteristics of Reversible Reaction? fo Sy Slia ot (S IO 6 dasy) | 2,

3. What is Relationship between Active mass and o Gl LS e S ) Gl Sy sl il 5 |3,
rate of reaction? \ .

4. Define Reversible Reaction and glve example -0 Qe ) oS et (S OISO ) ds ) | 4.

5. Write the equilibrium constant expression for S iy ppnsSl SIS o)l SIS (380 ) i3 aa e | 5,
the reaction: HZ(g) + I?.(g) 2HI ©

Hg) * Iag) 2Hl

6. What do you mean by equilibrium constant? ¢ b LSS Gl o &3S a5l SOl | 6,

7. What is dynamic equilibrium state? ¢ o LS Sufls o puly S Saill | 7,

8. How atmospheric gases are used in the Jlaaial C)L‘ u»S L dJ—H S J5eS K gl Sale | 8.
manufacture of chemicals? L UalR

Question#3: Answer in detail. 4x1=4 L A\ -0 2l 9 Salli 1 ¥ paal Jgu

(1) State the law of mass action and derive | (| C\J 4—<- u~5~—w dois sl oS u~5~—" ol G5l Y |1

equilibrium constant expressppnf‘t‘o? general
reaction.
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